mm?ﬁaﬁm&faﬁﬁﬁﬁw%mwﬁfﬁmﬁﬁ 1. When natural products oy

1. : —_—
T eaa e el | e ™ T
o) W=  HSSC CET Grofip D) Tertia sector e
(2) e & Answei' Key 21/|0ct (2) Industrial secty,
‘@ TEEE 2023 20d Shift | ) Secomaey s
(4) oo & ; (4) Secondary secty,
(5) W@ T e _ (5) Notattempted
2. v v 3 for o) 3 ) W & W | 2. In which district of g,
¥ | i ' Khajuraho Group of Mmumﬁtzrﬁ:s‘h' are
) o I ¥ ¥ (1) Chhatarpur ted? I
) . (2) Jabalpur
G) bt (3) waalior_
“ i 4 " (4) Indore
(5) e ,‘ T (5]_ Not attempted

: 'ﬁﬁﬁm e ﬁﬁfﬁ‘ £ IHUTl?'ﬁ g 3.'22'_; Which of the fbllowing is mot part of the
3. wd : ﬁﬂﬁq'{:ﬂ " HG[ Tﬂ WE s % Pa.flchayati Raj system in India?

wlie? “i(1)  Zila Parishad
: /[1] ﬁﬂw RO 8 ST (2) Gram Parishad
) wwﬁﬂi SRR R R i el
3 PR J N ' 5 (4) .Gram Panchayat
(4) - W IR 3 bt (8). Not attempted
TR v, |.4. | Where is the National Gallery of Mode®
4, TS emfE el HIEeT . located? © .
0 R " (1) * New Delhi
2) K W:a[ 5 " _' ‘-I(2}', Kolkata
@ T “17.(8) - Mumbal
) ngi B l4] "lNlag'pur
5 S (5 Notattempted

5, . wa A 9y 2023 # s o %9 Th fegdta | 8. Whom did India beat in the Finals of #°
g - oy TR TR " One Day Cricket Tournament held 1? the

" Wﬁmﬁwﬁmmﬁmﬁmw 20237

(1) A LRsY . bl (1)  Sri Lanka

@ ™ g W (2) Nepal

e ThFEH HE (3 Pakistan |

(4) FERY, T T P (4) Bangladesh '}

{5)_:3iﬁ7{§'fﬂi’r3?l L T ® Not attempted //Pf
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g O 3 T od  Sweiver wew F e v
e feaniean <At avaeTan ?

(1) 1985

(2) 1990

(3) 1986

(4) 1987

(5) TR oA 9w

TR =1 e Fel fem ¥ 2
(1) g

(2) T

@) &

(4) TUER

(5) SRR o 9ad

Araitaes wenl & 9§ Fefafes s w fa=m
Ffe | SH W FH TR TR S ?
(1) Treas S WaHHeTE dead § ®9 H S

et

@) @ﬁﬂ\éﬂﬁﬁmmnﬂﬁmﬁﬂr{ééﬁr
-

(3) WA A e o 3T el = et w e
w1 AHER T T

P mﬁw%mﬂtﬁmm%t

B) TR A TR

9. YHEIH 'R = FwAmE?
(1) =i 3o fem €1
(2) mqmﬁmmu‘ﬁa&mﬁaﬁwuﬁﬁ
a2 |
(3) =it Ta= T e ©

(4) ﬁ%gaﬁaﬂﬂuﬁm%aﬁﬁm‘-ﬁﬁ
7 mefm i

(5) SR TEl & =R

10, i g erwien | vra A fr g § 9w s
.

10.

In which year did the United Nations adopt
the UN Guidelines for Consumer Protection ?
(1) 1985

(2) 1990
(3) 1986
(4) 1987

(5) Not attempted

Where is Salar Jung Museum located ?

(1) Mysore
(2) Goa
(3) Bhopal

(4) Hyderabad
(5) Notattempted

Consider the following statements about

Democratic Governments, Which statement

is not correct ?

(1) Democracy is also
representative democracy

(2) Democracy guarantees universal aduit
franchise

known as

(3) Indemocracy people have power to elect

their leaders

(4) Democracy is also known as Oligarchy
(5) Not attempted

Why Earth is called the ‘blue planet’ ?
(1) Because it has life.

(2) Because more than 91% of the Earth is
covered with water. '

(3) Because it is blue in colour.

(4) Because more than 71% of the Earth is
covered with water.

{5) Not attempted

In which year did Gandhiji arrive in India from
South Africa ?

1) 1917
/(1«),’ 1917 (2) 1921
@) 1921 v
(3) 1907 {4; =
@ 1915 :
— 5 =m & (5) Not attempted
HANTY /2 2% 1% 5 (410 2271 | SPACE FOR ROUGH WORK
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11.
mmﬁmmﬁﬁuﬁﬁaw%mw
N 1997 % war s 3 ST o, Forwent 3G

oy .
AN o e
(2) o aEm

(3) =FTA SRR
(4) A= FAES
(5) SR oA | TR

(A) :
B) ) @i :
(©) ' 1) T S O W w
(D) Neqv) ot s A
1= feu o fawedi § 9 |8 39 =1 =99 SifE
(1)  (A)-(I), (B)-(I1), (C)-(IV), (D)-(I)
2) _(A)-(I), (B)-(1V), (C)-(11), (D)-(I11)

(A)-(IV), (B)-(I11), (C)-(11), (D)-(T) -
4  (A)-00), (B)-(), (C)-(IV), (D)-(11)
(5) SRR o Aed

13. Torg weE o 29 = S 9y aﬁ‘w%?

(1) - Sl

(2) <o etade
A3 Qi)

4 F

(5) SR <A1 Hed

14. T5Q oS § Tag sfgan got 91T 914 € 2

. To decide India’ e
o F}ovcmnent’;di;? 91‘3:-310]]2:::3‘1 f
in 1927, which wag heade?nt a'cznq by
(1)  Lord Hastings by, "y,
(2) Lord Simon
(3) General Dyer
(4) Robert Clive

(5) Not attempted

12. Correctly match the followip,
List - I '

List .y

(A) Ryot (M Villg ge

(B) Mahal (II) Peasam

(C) Nij (HI) C‘-ﬂti‘-'atig
lan(lg T on R}'

(D) RYOti (m Cu ltivaﬂan
plant&r’s o%m 13]_{

Choose the correct
below ;

(1)  (A)-(IL), (B)-(I1), (C)-(Iv), (D))
(2) (A)-), (B)-(IV), (C)-(I1), (D)
(3)  (A)-(IV), (B)-(I11), (C)-(I1), (D)-
4)  (A)-01), (B)-(I), (C)-(IV), (D)-(m)
(5) Not attempted

answer froy, -

13. Which continent has the highest nir
countries ?

(1) Africa

(2) South America
(3) Asia

(4) Europe

(5) Not attempted

fron
14. The finest cricket bats are mad

(5) Not attempted/

(1) ==<-34 wood ?
“ 2) focii -3 (1) Banyan tree
(2) Willow tree
e B (3) Palm tree
e iﬂg " (4) Pine tree
(5) I A T =R
HANTV/F2
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Khabar Lahriya, a newspaper run by cight

16. G wRRA
S FHAMERTA W W w2y ¥ ferge o & | 16 y
Afeensti gr w@rn s ¥, fra e Dalit Women in Chitrakoot distr 4
T A et St & 2 . x Uttar Pradesh, comes out in which loca
i language ?
1 ' =
EQ; N (1) Pishoni
il (2) Awadhi
-((3) geeh (3) Bundeli
@ W @ Tulu
(5) ST o = (5) Notattempted
16. 3 W S o forem i Ae o K wed 3 ¥ 4| 16. The substances which turn red litmus into
SHfd: _ EREI : blue are ____ in nature.
(1) SSRH (1) Neutral
2) TiE @ &R (2) Acidic or Basic
/‘3]/ iy (3) Acidic
- g; l]:a: icttempted
ota
(5) ST IR |
17. - 1 T YR &1 W A e 17. The normil temperature of human body is :
(1) 98.4°C ¥ (1) 98.4°C
98°C (2) 98°C
(38) 35°C (3 35°C
(5) I ed . (5)  Notattempted
A 3 i T 3 9% W X F@a A | g8, Which of the following helps in clotting of
&7 : . blood ?
(1) '@{'@[‘{H . (1) Platelets
/(2] e & HITVERIT (2) White Blood Cells
(3) ferraiter (3) Haemoglobin
@) TR (4) Red Blood Corpuscles
(5) I AR =med (5) Not attempted
10, e i o1 G T A A€ ? 19. Which is the most common carrier of
(1) Y-S communicable diseases ?
(1)  Dragonfl
@ e ) Ant Y
©) L (3) Housefl
Yy
(@) e (4)  Fruitfly
. B) " T & e (5) Not attempted )
HANTV /F2 = 1 2 110 221met | SPACE FOR ROUGH WORK Page 5
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20. 3 n
TSl W w fagg & % @ wé el 3% | 20. Species found only j
Fed T known as : ma ary
(1) dwegH (1) Endangered :
/p] iy (2) Endemic
3 (3) Rare
iq; gefd (4)  Extinct
foqw (5) Not attempted
(5) W o =ed
) 21. Select the non-met
21. Tefeama ¥ @ arag &1 =97 & (1) Iron metal from the
(1) e (2) Sodium
2) fead 42) Sulphur
A3) W (4) Copper
(4) e (5) Not attempted
(5) SR o =ed
22. Match the items given in g
292, W-Iﬁmmﬂaﬂ'ﬁ -Hﬁﬁqm{qa’f% thoseirlCo:umn-II, it
w19 gAfed I |
i ' 3 () Chloroplast (I L
(A) Hﬁrﬂm 1) heleR e (B) Rhizobium (1) ?f;
(B) () i g (C) Cuscuta () Ley
€) FREd (1) T (D) Pitcher plant = (IV) Ins:
_ |
:%_ ﬁ' L ) V) Hienet e Choose the correct options hfij:
1 A]-(Iall), [:B)— a1, (©)-(V), (O)-{1) (;) (A)-(111), (B)-(11), {C)-(1V), {DH
2 (A)-aD, B)-m), -0, O)-[V) @ AL, L, B
(4) (Al-(_frl_él%%(f‘] E(TIBI% (©)-1), (D)-TV) -+~ f;; I(\?J-ilm, (B)-(11), (C)-(D), D"
(5) i ot attempted
23, <hiad -1 ﬁﬁ’.‘@:ﬂqﬂ ! SHITTH - III, ﬁmmnﬁ 23. Match the items in Column - )
% |y gafea FIfT : Column-II:
I 1l
I I
(A) Typhoid L
(3 TP (B) Hepatiti Fur
() qj, W (C) MZIIJ::;:S ? Eiii) Blaff*
() ) SErg (D) Wheat rust (v) Pe?
(D) LA N, 1v) U Choose the correct answer 5
ﬁﬁqmﬁmﬁﬁﬁuﬁmaﬂwm: below : .
a) (@A), @-, ©-1V). (P 1) @-am, @)-, O 0
2 (A, (B)-0D, (-0, (D)-(IV) @) (A)-(1), (B)-(1), (C)-(D: { "
(3)  (A)-(11), (B)-(1), (C)-(111), (D)-(IV) (B)  (A)-(10), (B)-(), (C)-(1): (DI
Y O (B)-(1), (C)-(1V), (D)-(11) @) (A1), (B)- (i; (©)-(V) -|-'-
(5) @A e (5) Notattempted
—_— pteL//
HANTV / F2 20 @l % 17T 22111 / SPACE FOR ROUGH WORK
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24. aﬁwﬁ?;oomaﬁqﬂsaﬁﬁww%?ﬂ
T TR gl

A1) 20 fwHL /T
2) 500 f&.H /=
(3) 20 e/
(4) 20 Hd/s
(5) SRR o =
25. ﬁmﬁfﬁaaifaaﬁﬂ-wmaﬂmmw%?
(1) =
(2) STt
(3) TS
[EZCSIE
(5) I TRl & A
26. TaiHt FFH FFROEA G
(1) fEfEcC
2) feED
(3) fafrA
4 B
(5) TG STWERL
o7, Torcra o A 3 e 3 AR { W <
3, % F@ W@l
(1) et
2 ™
: it
(4) A
(5) TG A =R

e 4 < o & e T 7

24.

250 1

26.

27.

28.

If a body covers 100 km in 5 hours its speed
will be :

(1) 20 km/hour

(2) 500 km/hour

(3) 20 meter/hour

(4) 20 centimeter/hour
(5) Not attempted

Which is the best conductor of heat from the
following ?

(1) Silver
(2) Aluminium
(3) Wood
(4) Kerosene
- (5) Not attempted

Night blindness is caused due to the

deficiency of :

(1) - Vitamin C
(2) Vitamin D
(3) Vitamin A
. (4) Vitamin B
(5) Not attempted

Cockroach breathe through network of air
tubes called _

(1) Diaphragm
(2) Stomata

(3) Gill

(4) Trachea

(5) Not attempted

Which of the following is not a déﬁciency
disease ?

28
- /ﬂ ol (1) Goitre
(2) A (2) Scurvy .
(3) A (3) Anaemia
(4) WA (4) Malaria
(5) T = & = ~ (5) Not attempted
=t 19 3 110 7T+ | SPACE FOR ROUGH WORK Page 7
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29. Treftem & % 9 W v o = e %2 | 29. The planet which appears reddish in cqp,

(1) is :
./(23/::(_‘[ .(1) Venus

(2) Mars

3

@ (3) Earth
@ 2 (4) Mercury
(5) I G

(5] Not attempted

30. e - I ¥ U T 53 1t e - 1, 3 fow o A

30. Match the items given in Column - T yjy
< w1 e th?)s(; in gollumn -1: :
I - (W= 3iT) 11 - ( W) 1 - (Digestive Organ) II - (Process)
A) B SR A (A)  Small Intestine (I) Chewing of fagq
= : . (B) Large Intestine (II) Churning offoe
B =& \/m] e 1 fereire (C) Stomach (IlI) Absorption of
(C) {II1) SIS &1 SEwm food
(D) V) o F (D) Mouth (IV) Formation of
T § 3fra : faeces
(1) (A, B)-(V), (©)-(), [O)-a) Choose the correct options below :
~ A2 (A, B)-4V), (©)-0, D)) 1 L8, (309, (-0, (D}
(3] (A)-(IV), (B)-(I1), (C)-(1), (D)-(11) (@) (A)-m), B)-v), (C)-(1), (D)-(1)
@) (A)-av), B)-(, (©)-), (D}-a) B (A-v), (B)-(1), ©)-(), (D)-(m)
(5) IR A R : (4) (A)-(IV), (B)-(1), (C)-(111), (D)-(11)

(5) | Not attempted
31. <o 3R I a1 < Frewd (1) ik () R o ¥

T T F & T T TU T8 3 U Fa et | 31, Two statements are given, followed by two
9 fir € &1 7 Wl e 9, Fofy = R conclusions (I) and (I1). Assuming th

3 AT statcrr_lents to be true even if they seem to
fna;q‘ ﬁg’j‘{ HEH! o SR T THET Fremn at variance from the commonly known facts
&/ fsherd €1 . decide which of the conclusions logicall
: = e e follow(s) from the given statements.
i - Fqed & Staf.ements *  Some dogs are fishes.
: 0 FoFIRE - Some fishes are birds.
Frrend on : i
(M FBUEAFARI Siusions: (ﬂ Some dogs are birds
) . | (@  Some bi dogs
(1) frod (1) o () 1 Frarer &1 (1)  Both conciusil (lf;medblrds e
) s (1) and (I1) follow
A1 Fred (1) S T & (1) Foreremen (2)  Neither conclus; iy
: ‘ usion (I) nor (I1) follows
(3) e e (1) e g ) Only conclusion (1) follows
(4) e frewd (1) Feem g (4)  Only conclusion (I1) follows
(5) W Tl o1 = (5)  Not attempted
T ¥ e 3 fore 2211/ SPACE FOR ROUGH WO page’




32. 39 fa&ey =1 999 &L 9l 96 I8 A 39! TR Haiig

T 99 T R U v § el R
e ; wAfA: g@ 2
(1) Wi
(2) TEEES

T
4 =1
(5) S TE < =@

33. 999 &1 99 SifeT)

(1) T
()
(3) FEW
gt
(5) W A W&

34. 9 S &R % THE I Togafted FHH H fem ™
T HoARl % U WA @ T B s STEr
el =l e 0 W UE g wsgad |
L N S A I G
i 94 3 4% 5 6

(1} '3,5,4,2,6,1
2,6,3,1,4,5
@ 5,4,2,1,6,3
4 3,5,6,2,4,1
(5) SR Tl o =

35, fy uF Fafved Feum § MUSSOORIE’ &l
OTURQNTHG' foran s &, @t &t Fawr T
DELBI’ % &1 feran <iem ?

32. Choose the option which is related to the third
term in the same way as the second term is
related to the first.

Mosquito : Malaria : : Rat: _?

(1) Rabies

(2) Typhoid

(3) Plague

(4) Dengue

(5) Not attempted
33. Find the odd one out.

(1) Sparrow

(2) Parrot

(3) Pigeon

(4) Kiwi

(5) Not attempted
34. A set of English letters is given below in a

jumbled order. Select the combination of
numbers so that the letters arranged
accordingly form a meaningful word.

L N S A I G
| 2 3 4 5 6

(1) 3,54,2,6,1
2 2,6,3,1,4,5
) 5,4,2,1,6,3
4 3,5,6,2,4,1
(5) Not attempted

35. Ifin a certain code language MUSSOORIE’ is
written as ‘OTURQNTHG’, then how will

‘DELHI’ be written in that code ?

(1] FCNFK RNk
@) FCNGJ (2) FCNGJ
/Lal FDMGK (3) FDMGK
(4) FDNGK (4) FDNGK .
(5) I AE &M =ed (5) Not attempted
HANTV / F2 2 w14 % fe1w 221/ SPAGE FOR ROUGH WORK Pitsd
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36. 9 8 WS ) T o T YF ISl | 86. Read the following information to answer the
A*BH y : ' uestion below :
ASB a?r\:jfz 'il. gz:iﬁ%%l‘l : * B means B is the br.ofthe; };f o
A#BF Y ‘B AT gd') A% Bramans R IRLIETERC S
' A # B means B is the son of A’,
AP QR4 % A A fen T W [fP§ O *R# S then, which of the folloyy,
e statements is true ? &
(1) R, QFfymg (1) Ris the father of Q
A s, Qe d (2) S isthe nephew of Q
B) S,PHETRI (3) Sisthesonofl:"‘
R, P& O E| (4) Ris the father-in-law of P
‘/g’ I TR AT ey (5) Not attempted
37. TW sf@e i qEUE 2 I Fd wifWU| 37. Find the missing term __ ?  in the series
i1 1 1
{11?5' 215’ 25 35 s 125, 25,5, _2 % §1g é_)-
Q) -2 1y 1
3) 2 2 -2
'/{41 —1 (3) 2
(5) TR & =wd : oy =i
38. TREI24 m IR F SRR ¥ A o1 o geeR (B} Notatempted
2 Tﬁﬁﬂ 8 W AR o 33@ i w F3 16 38. Sarita walks 24 m towards West, then tums
m WO § 1 T T A I G 24 m W ¥l to her right and walks 24 m and then tumnsto
qftar &9 3197 TRfe &g 9 et g awn form faan her left and walks 16 m. Again she turnsto
FE? - her left and walks 24 m. How farand in which
direction is Sarita from her starting point?
i1y =, S5 () 40 m, North
_ Gl S0gan 2) 40m, West
F] Sam, T () 32m, North .
4) 48 m, TR (4) 48 m, West
(5 TH T & = (5) Not attempted
39. UEMMP,QR S THUTMAMETIG | ) ingit
i wd momEE AR T 0 R b are st
P T % &N 3R RFILL Q, T % Ul same order. P’ is to the left of T’ and to
g3 ard § RS, U F A AR Q' F TR right of R'. ‘Q"is on the right of T’ but o
S eft of 'S’ who is to the left of U’, Who are ™
FAE? neighbours of ‘Q’ ?
(1) T¥RS () Tands
(2) PSR () PandRr
3y T¥mU (3) Tandvy
(4) PemT (4) PandT
(5) ST & T (5} Not attempteq _—
HANTV / F2 2 el @ 1670 227l / SPACE FOR ROUGH WORK page !



a0, foie @ v FEl HEE A AR W 21| 40. z;:i;ranka‘t?] bith}?d?y falls on the hthird Frtiltiap;
aﬂ?‘qﬁﬁaﬂﬁﬁm.ﬁ?ﬂiﬂﬁﬂﬂ%ﬁl@ﬂaﬂ%l Tt the i'lmt‘::1 Mé}nda; (?futrl';: :lrgn?;;.t 3&?}::? ?s tt;e
¥ e o feie &2 date of Priyanka’s birthday ?
(1) 22 (1) 22nd
2) 15 (2) 15th
A8 23 (3) n3rd
(4) 21 @ 218t
(5) W el A1 I (5) Not attempted
41. (0.5%0.5+0.5+5) REHE: 41, (0.5%0.5+0.5+5)isequalto:
(1) 035 (1) 035
(2) 0.45 (2) 045
3) 0.15 (3) 0.15
0.25 4) 025
(5) TH TE} <A1 =R (5) Not attempted
42. SEEETE 2p, 5p a7 pH LCM. 3. 42. ;Fsh:s L.C.MI. of three numbers 2 p, Spand 7 p
(1) 75p (1) 75p
/('2') 70 PS 2) 70 p3
(3 70p (3 70p
(4) 65p 4) 65p
(5) =W T & = (5) Notattempted
e 330, affe @ 2% T 7 TR 43. For which sum, the simple interest at the rate
35[511210%?4 ofS%%perannumwﬂlbe?zlom Q%years?
A Xa,p00 (1) 2,800
(2) 2,500 @) 22,500
) ¥1,580 @) 1580
@) 2,400 @ 22,400
(5) T T S (5) Not attempted
44. 7fz a7 b & o O % A HAFA-MTE | 44, Ifaand bare two distinct integers, then which
27 of the following is incorrect ?
(1) a+0=0+a=a (1) a+0=0+a=a
(2) a—-0=a#0-a (2) a-0=az0-a
(3) a+b=h+a (3) a+b=b+a
) a—b=b-a (4) a—-b=b-a
(5) TW =8} &1 =R (5)  Not attempted
HANTV/ F2 % @1 3 fera zar | SPACE FOR ROUGH WORK Page 11
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qg;l@raﬁzh Wﬁmmfﬂ‘ﬂﬁmﬁmwﬁs 45. A cerlnin number is divided into 1y, "
W& 5 Tﬂ'\.ﬁm VI ¥ 1] T 3 e such that 5 times the first poet uele tu”h.
& &5 7 A1 W W T o gﬂ" ? 1 T {imes the Hccmulbprui‘l ||1111I<fr:| 7 limey Il |
1) 1:2 e -
Ja ¥-
231 '
@ 5:11 ) Aas
S ; 4 S5:11
. ST &7 < (5)  Not attempted
. o aﬂmqgﬂ & % 65% FAEL gl | 46. Hall of a certain number is equal 1o 65% of
TR W o e T & : the second number. The ratio of the fi
(1) 13:8 number to the second number is :
(2) 13:10 (1) 13:8
(3),~10:13 (2) 13:10
J“]/‘ 8:13 3) 10:13
(5) SR S =wy 4) 8:13
(5) Not attempted
47. 10 mXx 10 mx 5 m Tomst ot st 3 vt o1 g
e Tl § el o i e § 47. The length of the longest rod that can be place
in a room of dimensions 10 mX 10 mx 5 mis:
(1) 102m
(1) 1042 m
/('2’] 53 m Q) sV
m
B)  15V3 m
4) 15m B) 15/3m
(5) ST o TR (4 15m
(5)  Not attempted
48. foma 9dl #, ¥ 800 1 AR 10% At Thglg =
F WY, 7 926,10 A ST waF = T | I‘;rhz‘:n’“any years will a sum of ¥ 800 at 10%
At aare ? PET annum compound interest, compounded
' semi-annually become ¥ 926,10 ?
_ ) :
() 257 (1) 2 years
. 3
@ 2 2 21
2 5 years
1 1
)3‘[’ 1-3: " (3) 15‘ years
1
= 1
4) 12 ™ (4) 15 years
(5) T T & e (5} Not attempteq
T
HANTV/ F2 0 oI & 70 T2t | SPACE FOR ROUGH WORK page




0 @zx 7 e e A fa AN 7 e el A
oy 3 : 1 ¥ ¥4 fasm N fwaa g9 ot T Sy

fifs 1w STAA 4 1 1 TS |

49.

(1) 5@
(2) 6E
/[3;/ 7 T
@) 4

(5) IR A N AT

0.2 x.0.2 + 0.01
- : | F T, W B
0. 0.1 x 0.1+ 0.02 ! ; .

W o
./l )
9

(2)

5
5
) Y
41
@ 13
(5) I & W

49. 20 litren of g mibxture containg milk aned waler
i the vatio 230 1, The smount of milk 1o e
mdddded Lo the inixture no an to ke Lthe ratio
S

(1) 5 litren
(2) O litren
(3) 7 litres
(1) 4 litres
(5)  Nolallempted

0.2 % 0.2+ 0.01]
0.1 % 0.1+ 0,02

50. Simplification of gives :

41
)
9
@ 3
: 5
@ 3
41
@ 13

(5) Notattempted

4
51. If the selling price of an article is 7 times its

A 4
51. R fordl o o1 foeed god 39 A Jea ol 5 T . 3
- o ) cost price, then the profit % in the transaction
%, v AR ey e € is :
1) 251% 1) 255%
(1) =% (1) 5
@) 331y (@) 33%
3 3
2 2,
{3} ]6‘:-3-% {3) 16'5 Yo
4, 201 201 %
[ E v (4] -:?' (1
(5) THL AE = HEd (5) Not attempled
HANTV / F2 < %14 & o1 zarmsl / SPACE FOR ROUGH WORK Page 13




52, Awmm%w 10 &7 % = wopmn 2, 13 w4l
?anfmw%qmmﬁzoﬁamm%mﬁcw}

1
PR H = W 13 A F o wwar ) A A e 5

ﬁmﬁmmwﬁfﬂm%? work in minimum time ?
G ;

[ (1) €
o T (2] - A and C both
(3) A ;
(4) B ‘(3] ]

4

(5) S T (4)

53. AMC (a+b) : (btc) : (c+a)=6: 7 : 8 TN 53. If (a+b) : (b+c) : (c+a)=6:7

atb+c=14% @ct: at+b+c=14, thencis:

8

52, Aca

of the work in

(5) Not attempted

54.

(1) (1) 8
g {154 . 2 14
- @) 6
(4) 7
(5) ST B (5) Not attempted

A, B adl c%ﬁwwwﬁfso,ohomrqr

ndo 7:. of a work in 10 days, B car (|, A

|
3
work in 13 days. Who can complete the y,

20 days and C can do - of

» 8a

A, B and C together invested ¥ 50,000 in
busme‘ss. A invested ¥ 4,000 more than
and B invested ¥ 5,000 more than C. Outo

total profit of ¥ 35,000, A received :

e AT B ® T 4,000 SUF TN BACH i
% 5,000 3fess @Y, W T 35,000 % F@ @ §
ATH IITE
] %13,600 (1) 13,600
(2) 14,700 (2) 14,700
(3) ¥8,400 (3) 8,400
(4) T11,900 (4) %11,900
(5) SR < AR (5)  Not attempteq
55, Qﬁ?ﬁl’(l'@'ﬂfﬁﬁ20waﬂ?ﬂ%| ﬁ‘Fq'T/ﬂ'ETff 55. A car goes 20
g 1A & in km/h is ;
(1) 36 (1) 36
@) 20 (2) =20
(3) 18 (3) 18
AT T2 . @ 79
(5) WL AE ol Aed 5)  Not attempteg
HANTV / F2 ¥ el & fer Z2iret / SPACE FOR ROUGH Womp
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.« Choose the alternative which best expresses
the given sentence in Active Voice.
The invitation cards will be sent today.
/They will be sending the invitation

cards today.
d the invitation cards

(2) They will sen
today-
(3) They will sent the invitation cards today.
(4) They will have sent the invitation cards
today.
(5) Not attempted
7. Choose the most appmpriate alternative to fill
in the blank. :
The noise comes from the river.
(1) over
((ZI across
(3) against
(4) besides
(5) Not attempted

9. Find out the correct indirect speech of the

following sentence. ;
He said, “Do you know German ™

(1) He asked me if I knew German.

(@) 1 asked him if he knew German.
/L})' He asked me to know German.

(4) He asked me if he knew German.

(5) Not attempted

9. Find out the part of the sentence which has

61. Pick out the synonym of the underlined word

in the following sentence,

The cellphone industry has ushered a new

phase of communication.
(1) heralded

(2) ollapsed

l)})/f:ompleted
(4) given up g
(5) Notattempted

Fill in the blank with the appropriate option

given below.
If you no confidence in self, you

are twice defeated in life.

62.

){&1 have
(2) ‘having
~ (3) - has
(4) hadnot
(5) Not attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.
He had to confess his crime because he was

caught red handed.
(1) _Caught very late
Caught while doing the crime
(3) Caught sleeping
(4) Caught easily
(5) Notattempted

63.

an error. _
If he is a millionaire, he would help 64. Pick out the correctly spelt word.
(@) (b) ‘/[Jr)" minipulation '
the Millennium Project in the future. . ' % _ manipeﬁa'tion
(©) (@ manipulation
1 (© (4) menipulation
(3 ()
4 ) 65. Choose the most appropriate option to fill in
5) Not attempted the blank.
Many beggars sat the wall of the
80. Rind out the antonym of ‘absurd’. temple.
(1) A sane (1) along
v[?)ﬂ refuse ) in
3) silly on
) anxious (4) besides
5) Not attempted (5) Not attempted
HaN T
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66, ﬁqﬁiﬁm

TR? 71, P faemed % 9 TR T H T 5,
(1) foreht o 3, ) () w
@ B S R
e % 3 i
(B =fws Qwdr /(,3)— T
M TR o e (4 @
(5) W & awmd (5) I <A R
67. ‘319 fovam ¥ dva T ¥ am ¥ Yaited o 72. e T I AT IR o a1 3
— 7 W % [
fere s swgw v ¢ = L;i/ﬂvr#ﬁw-—rmﬁm
AN oy Tl aE Weu
(2) Tt (@) e 3R wER Y gern e
:j; T (4) 1 R B, 7 B
(5) IS o =
(5) ST AR
68. "3 s o Fw A 73.;11}mmﬁaﬁggqﬁ%?
wimwﬁmwﬁmﬁ 2 - ‘IEI,FTEI e
s (3) wfafAfy
i (@) 9d |
(2) T
By & (6) ST & =
= 74,
(5) SH o W g?mmﬁ@”mﬁﬁ—mmwm
60, ‘=Tt 3 aTE R AR’ e o S e € ¢ (1) R we
1) dRfAFTE @) il
(2) et g e iR @ el I =y
(3) oHfo UREH HT 4 = afe
a1 | affeh I H 6 T T oy
(5) T A ;
; mwﬁ?—mﬁm
70. ‘Wﬁ'ﬁﬂﬁﬁmﬁﬁl—ﬁ%ﬂ%: % FUFRF 7 T W
(1) T+ 1) WA
T + a9 ) WY e gy
'Q'{+’Eﬂ¥f (3]
@) SN,
(4) 1:[+1::n?f ./H) aﬁ@a@m_r"
(5) 9w & = (5) T
HANTV / F2 wmtmzw;spncsw_‘/



76

7.

; mﬁ'mn‘hwnﬁ'zﬁw%mﬁa
b 3 e fema Titel e wnfet foRe T €2

c)‘”/ 5,300
4,200

(2)

@) 6,500

(4) 6,000

(5) SR T & e
n’tﬁ‘!ﬁlﬁﬁﬁ‘a@aﬁm@%ﬁﬁﬂﬁﬁﬂﬁfﬁﬂﬂmﬁ
w® faErR #IST -

(a) & T, Wrta # feerd T

b T A @ TE )
srdaa § A -/ TG /7
(1) (a) 3R (b) S

(2) I (a) IR A (b)

Fad (a)
“(4) e (b)
(5) SR o =ed
8. AN I AW ST WA F FA TS H

e fapa wfe € ?

(1) 50% :
./(5)‘ 45%

(3) 65%

4) 55%

(5) SO o =@

79. R @it e Fi faere 33 & o sfes S

76.

77.

78'

79.

- (3)

How many villages are approximately covered
currently under the scheme ‘Mahara Gaon -

Jagmag Gaon’in Haryana ?

(1) 5,300
(2) 4,200
(3) 6,500
(4) 6,000
Not attempted

Consider the following statements in respect
of Motilal Nehru School of Sports.

(2) It is situated in Rai, Sonipat.

(b) It is affiliated to CBSE.

Which of the above statement/s is/are
correct ?

(1) Both (a) and (b)

(2) Neither (a) nor (b)

(3) (a)only

(4) (b)only

i5) Not attempted

What is the approximate percentage of rural
population of the total population of

Haryana ?

(1) 50%
(2) 45%
3) 65%
4 S5%
(5) Not attempted

Bhainswal Kalan, famous for giving sportsmen
to Haryana and to India is situated in which

wal fora foret & e 272
\)1') foardt district ?
@ (I) Bhiwani
s (2) Sonipat
i (3) Rohtak
@) = - (4) Karnal
(5) oW A <M =T (5) Not attempted
Page 17
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of the follo -
WIINE Pla_

ces i

i

80. m
3§
%./ .| il STt %? el m 80. Which one
RIS for Indian Women H
'/[‘3')/ -q;ﬂaﬁna (1} Panchkul OC]{cy p]ayers
(4) TEm 2) a >
(5) (3) ihahbad
IW aridabad
& &1 wed (4) Guru gra
81, ﬁ'ﬁ’l‘rﬁ'ﬁgﬁ !5] am
$\’.Fﬁ Not a.ttEmpted .
(a) T mm faar Efﬁﬁm | or. G .
S e W R A onsider the followin
E'qﬁﬁﬁ . HTHW \ 1 (a) Masani b g statement
BRI A fem 2 B K meslai iy
‘W/‘{?( W'ﬂﬁ ! Whi a‘ushaIYa — Rewari dist;-
(2) {a) aﬂ—{ (b) aTﬁ %/%? cor:gilt 0[- the abOVe . e Pinjol-e' l".
T (a) T (1) ’ statement/s i
@) & (b) Both (a s i/
- (@) @ Nei ) and (b)
(4) FHae Neither
b (3 (a) nor (b
O ) (@)only o)
el = =R g} g’] only
8 .
2. ﬁm -a’ ﬁ E{-ﬁﬁ‘m ot attempted
g TR g 1 7 T 82. Which
Lo Hary of the followi
ﬂ_@ﬁm ' (1 i wing is not a d
(3) R REE] (2; Loor ance form
(4.' TR ) _ 3 I’;{hol‘ia
(5) SWTE :4; Talghadi
& e 5 Phag
83. BﬁEITU]T m : i Not attem
! . In whi
(2) 1-971 ﬂI::;v hich year
963 edged H
e ) o elgitate ¥ aryana was mad 1
::) 1966 , (2)' 196; easal
) ST & T A
g4, @ 3 e faur @ : (5) [1;366
(1 o faf= , ot at
(2; gﬁ - Rk 84. Ho e
w
Ei;/as thercnilan}' vidhan
90 (1) ;n Haryana Sabha C
(5) WA el (2) % ? onstituencit®
: @)
il
T
RK /
pad®




g7

(1) [T g4

y/' Eﬁmﬁ

@ @ EE

(4) QH.%?.'F"MT

) I & e

6., Frefrad § A B

TEe?

(1) g YO

(p) Ty o

(3) @ yomed

@) fage yod

(5) SO & =

7. ﬁﬂhﬁﬁﬁﬁﬂgﬁmﬂﬂmﬁqﬁﬁwmaﬂt

o 3 e S e € 2 :
(1) TR
er fomn
(3) U
(4 Toi=
(5) ST A

88. RN %1 Tog Uy F W E?

Ny &

(2) ==
L}(;/' e fext
(4) et
(5) SUXE &A1 =

85. Who amongst the following former UPSC
members was an IAS Officer of Haryana

Cadre ?

86.

87.

88.

(1)
(2)
(3)
(4)
(9)

Which amongst

Mata Prashad
Subir Dutta
P.C. Hota
S.K. Mishra

Not attempted

the following is not a canal

network system of Haryana ?

(1)
(2)
(3)
(4)
()

Thé Yamuna system
The Indus system
The Bl_lakra system
The Lift system

Not attempted

Which one of the following districts of Haryana

shares border bot

h with Punjab and

Rajasthan ?

(1)

@

@)
@)
©)

Hissar
Sirsa
Kaithal
J ind:

Not attempted

The State Animal of Haryana is :

(1)

(2)

(3)
(4)
(5)

Camiel

Tigér

Black buck
Elephant

Not attempted

HANTV / F2
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89, ﬁqﬁﬁﬁﬁﬁﬁaﬁq-mmmmmm

T 7 %2

(LL-"qmA

(2) I

) T

4 T

(5) I TR =
90. R RrerRg =it snaRva w5t smafem €2

(1) YaFem

(2) =

B F

(4) SR

(5) IR N ==

91, ‘wifd ' TR Tt = fore wwamal T 69

afer § S £ 2
A" 275,00,000

(2) ¥25,00,000
(3) T51,00,000
(4) 1,00,00,001

(5) ST o 9w

02. THE oA 55 Fel AT @ 2

_ e, e

t the following is not , ',

: ngs
89. Which amo - al attire ?

Haryana's tradition
(1) Daaman

(2) Chorno
(@) Pagr
@) Chunder

(5) Notattempted

90. Where is Bir Shikargarh Wildlife San,,

located ?

(1) Panchkula

(2) Karnal

(3) Kaithal
(4 Jind

(5) Not attempted

91. What is the one-time cash amount giv
the “Kirti Chakra” awardee ?

(1) ¥75,00,000

(2) ¥25,00,000

(3) ¥51,00,000

4 1,00,00,001"
- {5)  Not attempted

92. Where is Chinkara breeding centre locatt
(1} Morni, Panchkula

@ &, fart (2)  Kairu, Bhiwani
(3) fooet, FEEA () Pipli, Kurukshetra
(4) femm (:) Hissar
(5) WX T & e (5) Not attempted
. — 93. Where ; . ;
93, ST Vet T gRam H O S €2 e II{ndlan Institute of Manager™
P . aryang ?
@ e (1) Bhiwan;
(2) A 2 Karna
(3) HHEIE (3) Panchkyla
(4) TS (4} Rohtak
(5) 3SW L] =1&d e (5) Not att empteq
I1E / SPACE FQ
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" 1 1"
” Tﬁ%ﬁlmmw e AR eI a=gE '’ | 94. Two most important monuments of the Stat
e

forg = W Ferd € 2 :g::teléf:; :"‘-';:idchtl.':)?a:;u?m ayun Mosque’ are
1 FE (1)  Kurukshetra
@) s (2) Naurangabad
(3) TRIEER (3) Fatehabad
m (4) Mahendragarh
(5) SW @ ol =red _ (5) Not attempted

)5, 39 SE W TeAr Hifaq S Te T ffe 989t | 95.  Identify the place where Guru Gobind Singh

=T TGS & 918 52 AT A2 stayed for 52 days after the battle with Hill
Kings ? .

(1) e S
(1) Dhamtana Sahib

(2) TEEN TG HE
3) TG ATl WIS

(2) Gurudwara Lakhan Majra

: , (3) Gurudwara Kapal Mochan

2 TR s o ' ¢4) Gurudwara Damdama Sahib
e kL w (5) Notattempted

o6. T 1 R I Frefafaa o & feues i gen )
96. The Third Battle of Panipat took place

a@? : ' between :
ALy T ST A AT W (1) Shah Alam and Muhammad Shah
() TG fE iR sl (2) Guru Gobind Singh and Aurangzeb
(3) e W &R AR ' ~ (3) Nadar Shah and Aurangzeb
(4) TR WG STl AR HS | (4) Ahmad Shah Abdaliand the Marathas

(5) S TR & =" : (5) Notattempted

m il
97. e 1 FA-A A e i 9 9l | 97. Which day of every month is celebrated as

a3 e’ % ey H o s g ? “Tithi Bhojan Beti Ka Janmadin School me
i P TFT?IEI'R Abhinandan” ?

@)/\ - (1) 3 Tuesday

i - (2) 4th Tuesday

— TR (3) 15t Tuesday

o m ol 4) 2nd Tuesday

(5) Not attempted
. HANTV/F2 I T1d & fé7e ware / SPAGE FOR ROUGH WORK Page 21




98.
:g?ﬁmﬁ:gé’;%?ﬁmmm 98.
T T 2 ’ FH 7 wfeamm wa #

(1) @&a
(2) swEEl
(3) Heem
_/(‘Uf‘ GIE
(5) SRl 2 =

00. TR T5T F T U Ao — Farerar g % an § 99.
(a) 21 S T e s e T ¥
b) THAZ 1,800 ufa \re w1 fean S 2
I § § HHE-T/Q wF W B/R?

(1) (a) 3R (b) S

2) T () AXTH (b)
(3 (a)

(4) e (b)

(5) SWCE <A =

100. Teel (5T SRE 3R (sh.egELdt) Fapd e | 0.
e TR fem &I |
(a) o B L r: i | A x| o Fet @i

 eAf 2 |
(b) TERE s (s i 2framon & <i.TE. .
& aifs €
ﬁﬁﬁq—wﬁwuﬁ%ﬁ?
a)  (a) 3RO 3
) F 4 (a) s A &l (b)
@) Fad (@)
(b)
(5) Eﬁiﬁﬁﬁﬂﬁa
_.oa0DO0"-
< Tl & TCTE T2UTeT / SPACE

HANTV /F2

l

ndia’s Environment Repg,
e rank of Haryana Sri"'
ustainable Developmenf':'

I
As per the
what is th
achieving S
(SDG-2030) 7

(1] 6th
(2) Bth
(3)
(4)
()

lst
3r'd
Not attempted

ollowing statements ;:
eme - a State Schey,
ryana.

Consider the f
Widow Pension Sch
the Government of Ha
(a) A woman of age 21 years and aby.
eligible.

It carries an allowance of T 1,800

(b)

Which of the above statement/s is
correct ?

(1) Both (a)and (b)

Neither (a) nor (b)

(2)

(3) (a) only

(4) (b)only

(5) Not attempted

Consider the following statements aboul t

State Domestic Product (GSDP).

(@) GSDP of Haryana is more than
Karnataka.

(b) GSDP of Maharashtra is more tha

of Haryana.

Which of the above statement/s 18

correct ?

(2)  Neither (a) nor (b)
(3] (a] Only

(4) (b) only

(5)  Not attempted
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